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1. Explain the following terms :—
a) agreement. b) contract. ¢) promise.
d} misrepresentation. e) undue influence.
f) voidable contract. g) contingent contract.
h) breach of contract. i) indemnity.
j) bailment. k) agent and principal.

2. A proposes, by letter,to sell a horse to B at £ 100.The letter
reaches B on the 30th, June, 1906. B posts his letter of accep-
tance on the following day, and after that he provokes his
acceptance by telegram which reaches A before the letter of
acceptance. Is B bound by the contract ? Give your answer
momoam:m to each of the Indian _Oosa\moﬁ Act, the english law
of contract and the Civil Code of Japan.

3. Mention the remedies which a party in a contract has against
the other for his non-performance.
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1. Explain the meaning of the following terms :——

a) domicil. b} nationality. c¢) illegitimate child.
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d) kinship. e) accessory things. f) chattel.
g) proof. h) evidence. i) estoppel.
j) presumption of law. k) facultative right.
) ightinrem. m) condition. n) assignment.
0) dispositive fact.
2. Define a) aperson, b)athingand c¢) aduty.
3. Mention the common law rule and the civil law rule in comput-
ing the degrees of kinship.
4. Explain the following article :——
A child conceived, but not yet born,is to be deemed an existing
person so far as may be necessary for its interests in the event
of its subsequent birth. (sec. 29 Civil Code of California.)
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1. Describe the law of Gresham.

2. State briefly the advantages and disadvantages of division of
lavor.

3. Translate the following quatations into japanese :
“Three questions have always occupied the thoughts of men ;
“How can wealth be produced ? ” What use shoud be made of
it ? “In what manner should it be divided ?” The several
answers to each of these questions .oonwm::m one of the great
divisions of political economy ; viz, production, consumption
and distribution.
“In every country where two legal moneys are in circulation,
the bad money” always drives out the good.
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1. Briefly explain the following terms ;(——
a) person of inherence of duty.
b) conditional limitation. condition subsequent.
c) chose in action. d) foreclosure of condition.
¢) alienation. f) dispositive fact.
g) inchoate right. h) negligence. i) malice.

j) right of possession. k) adverse possession.

1) signature. ‘

2. Discuss the classification of duties as adopted by Terry, and
explain the relation between each kind of duty and protected
right.

3. Whatisatort?

4. Compare an equitable assignment with a legal assignment.

5. Explain the following article :——

A corporation is a creature of the law, having certain powers
and duties of a natural person. Being created by the law,it may
continue.for any length of time which the law prescribes. (sec.
283 Civil Code of California.)
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1. Words of purchase.

2. .. ., limitation.

3. Fee simple.

4. ,, tail.

5. a.m<mammob.

6. remainder.
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